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Note : This paper is of sixty (60) marks containing three
(3) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Section—-A / Gvs—h

(Long Answer Type Questions) / (€T IR T%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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1. What Life Insurance Corporation has done for the
extension of insurance in rural areas ? What are the
difficulties in this direction and how can those be
removed ?

Giled 4 e gRT g e 4 UER g
R BRI b T g ? 9w § w7 HiSAAl §
T % 59 YaR R fobam ST Fapar € ?

2. Explain the meaning, importance and conditions of

“Insurable Interest”. At what stage should insurable
interest exist in various contracts of Insurance ?

T Arg BA” @ QMEN, AEd U4 vl @l e
IfvTg | faffe yaR @ 91 <facrel # fow a9 9
Iy 2 HINE & ARy ?

3. Explain fully the procedure for taking Fire Insurance
Policy. What are the circumstances under which it
becomes null and void ?

At 41 o= @ gl Ay @ e Fif | 8
foe-fort aRRerferal # X A Sirer @ 7

4. Describe the working of General Insurance
Corporation of India.
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Section-B / Yls—Y

(Short Answer Type Questions) / (79 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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Make a disinction between Insurance and Assurance.
TN (§191) T SR (QTYaNH) @ 9 oW
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What do you mean by Insurance Organisation ?

ST WS T SUBT AT AU B ?

Distinguish between Endowment and whole life
insurance policy in brief.

JRIaw] (AR SR Aol S Tl § IR W
I |

What do you understand by Doctrine of cause proxima
under Marine Insurance ?

TSI 9 B I A BRI b RIgrd I 3
T T © ?

What are the various classes of Life Insurance risk ?

g 91 SiReq & s YR PH-d=-9 8 ?

Discuss briefly the functions of Fire Insurance.
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Explain the main features of Investment made by the
L.I.C.

ARd e S FTE & R @) e e
P AT HITT |
Explain the main features of Motor Insurance.
AIeR 97 @1 T IRy 9argy |
Section-C / GUs—T

(Objective Type Questions) / (A&ITS )

Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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Indicate whether the following are True or False.

3 PR 6 FfoRa 9w € a1 e |

1. The amount of premium is higher at younger age and
lower at advanced age. (True/False)
H¥ 39 H WH @ Ry e gril g iR 3ifd Su
¥ o9 B 2| GRVAKS)

2. Insurance is like gambling. (True/False)
ST TP 8T B | GRYALR)
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3. Insurance is a contract between the insurer and the
insured. (True/False)
dr1, SrTeR T dMredt & 99 UE e 2|

(Fg / 31c)

4. There is no difference between Double Insurance and
Over Insurance. (True/False)
QN7 ST o Y T H g e T 2

(W / 31c)

5. Jettison means intentionally throwing away goods of
ship. (True/False)
S W 3R WH-g9a] Al Bl el W dTe”
B | GRVAKR)

6. Contribution made to life insurance premium qualifies
for deduction under Section 80 C. (True/False)
Stiae 4 WM & forg far T/ sfee™ ary 80 A1
@ I Bl AT B (A / 39)

7. Motor insurance is compulsory done by the owner of
the motor. (True/False)
A’ 991 Ale & @M §RT AR ®Y IR o1l
2| (T / )

Fill in the blanks.

R Il @1 gl B |

8. I.R.D. A. came into existence in ............ .
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In Marine Insurance insurable interest is enough at the
time of ............. .

When the same risk and subject matter is insured with
more than one insurer is called as ........... :
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